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011 B Bl 17 SRR AR LIRS 1 1 1 2 2 572.5
017 B IRV S E PN 2R EE 1 1.5 2 3 25 800.75
O1H4H 8% Bl SRR A TETEHREEZ 1.25 1.25 1 2.5 2.5 665
017 B IRV S E PN M REIRTEAERHE 1 2 2 3 3 868.5
028 D% A% Bl SIERIAR BRIER 1 1 1 2 2 548
O3E|HABFHEWE |BHUSIERKAR AERESRER T ER 1 1 1 2 2 573.25
O4EBEHHEFHESHE |BEUu=ERRKAE TEEEA 1 1.5 1.5 2 3 751
O4EHABFHEER |BHUSIERKAR HEBIRZ 1 2 1 3 2 759
O4BERABFHETR |BEUSIERKAR EMIRER 1 1 1 2 2 588.5
O4EHABFHEER |BHUSIERKAR BEMEPEEEA 1 1 1 3 3 756.5
O4EBEHHEFEHESHE (B =ItREAE TETEHREEZ 1.25 1.25 1 2.5 2.5 688
05{EL%# B 17 SRR AR EBIRE% 1 1.5 1.5 25 25 725.75
05{C T &# Bl SAERIRAR EBTEREEMRIRZ 1 1 1 2 2 499.25
05{c L% EIAVAE S SE PN MEIREIRTLEZERE 1 2 2 3 3 787
06+ REAFZ LR Bl SERIR AL =RIREA 1 1 2 3 2 664.25
06 - ARE2ZRSEEF B 17 EIERIRAR ITARTRESR 1 1 1 2 2 470
06 L REAREES Bl SAERIRAR BEA 1 2 1 3 3 708
06 - ARE2ZRSEAF EIAVEE S E PN M REIRTEAERHE 1 2 2 3 3 7425
07T ERY Bl EERIAR B ENCESSH 1 2 1 2 3 742
07=%=T%% EIAVAE S E PN BHE % 1 2 1 3 3 790.5
072 Bl SIERIAR TERFAXBAERRTE 1 1 1 2 2 544.5
07:%=T%% EIAVAE S E PN YIESEERRA 1 2 1 25 25 685.5
08 TiZEAEIES Bl SERHR AR TEEEA 1 1.5 1.5 2 3 701.75
08 LizEAEIRLH EIAVEE S E PN MK REIR TE 2 KHE 1 2 2 3 3 821
09F A EIHEE Bl SERIR AR TEEEA 1 1.5 1.5 2 3 802.88
09 K AEIRRE Bl 17 S E R AR EHEEHEZ 1 1 1 2 2 618
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09 SREAE AT Bl SIERIRAR REEER 2 2 1 3 3 947
09 KA EEEF By EAERHR AR THEIREEER 1.25 1.25 1 25 25 736.5
09 SREAE AT Bl SIERIAR BB EEEA 1 1 1 3 3 814.5
09 <A EEEF B i EAERHR AR MIEEHBERA 1 2 1 25 25 772
159hERF AR By SR AR e 1 2 1 2 3 742
169MERFHRE SR By EAERHR AR XIEEHRBERA 1 2 1 25 25 739




